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1 1 1 10 0 0 0

B(IECIN)

5.6MHz
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1 1 1 0 0 0 1 0

16 MHz에 의

한 clocking
1    1    1    1   1   1   -  - 0   -  - 0   -  - 0   -  - 1   -  - 0   0 1

1 8 14 1711 20 22 23

W(IECIN)

1 1 1 10 0 0 0

1    1    1    1   1   1   -  - 0   -  - 0   -  - 1   -  - 0   -  - 0   0 1

1 8 14 1711 20 22 23

16 MHz에 의

한 clocking



aPreamble b c d

5.6MHz
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data = (23th) xor (21th) : data가 '0'인지 '1'인지 결정

cnt_clr = (23th) xor (22th) : clock mismatch 보상
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6.2MHz
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16 MHz에 의

한 clocking
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6.2MHz
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data = (21th) xor (19th) : data가 '0'인지 '1'인지 결정

cnt_clr = (21th) xor (20th) : clock mismatch 보상



1 1 1 10 0 0 0
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4 MHz

1 1 1 1   1 1 1 1    1 - - - 0 - - - 1
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16 MHz에 의

한 clocking

M(IECIN)

1 1 1 0 0 0 1 0

16 MHz에 의

한 clocking

W(IECIN)

1 1 1 10 0 0 0

16 MHz에 의

한 clocking

1 - - - 0 - - - 0 - - - - - 0 0

1 1 1 1   1 1 1 1    1 - - - 0 - - - 1
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0 - - - 0 - - - 1 - - - - - 0 0
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0 - - - 1 - - - 0 - - - - - 0 0



aPreamble b c d

4 MHz

0012  3456  7cnt

33th(32 bit)

32th(31 bit)

31th(30 bit)
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29th(28 bit)

28th(27 bit)

cnt 0 0 1 2 3
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data = (32th) xor (29th) : data가 '0'인지 '1'인지 결정

cnt_clr = (32th) xor (31h) : clock mismatch 보상
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